

$$\text{Ans 3, } \frac{df}{dt} = f_x \frac{dx}{dt} + f_y \frac{dy}{dt} + f_z \frac{dz}{dt}$$

$$\frac{ds}{dt} = f_x \frac{dx}{ds} + f_y \frac{dy}{ds} + f_z \frac{dz}{ds}$$

$$a, f(x, y, z) = x y z^{10}$$

$$x = t^3$$

$$y = \ln(s^2 \sqrt{t}) = 2\ln(s) + \ln(\sqrt{t})$$

$$z = e^{st}$$

$$f(x) = x y z^{10}$$

$$\frac{dx}{dt} = 3t^2$$

$$f(x)_t = 3t^2 y z^{10}$$

$$\frac{dx}{ds} = 0$$

$$f(x)_s = 0$$

$$f(x) \frac{dx}{dt} = 3t^2 \cdot (2\ln(s) + \ln(\sqrt{t})) \cdot e^{st}$$

$$f(x) \frac{ds}{dt} = 0$$

$$f(y) = x z^{10}$$

$$\frac{dy}{dt} = \frac{d}{dt} (2\ln(s)) + \frac{d}{dt} (\ln \sqrt{t})$$

$$\frac{d}{dt} (2 \ln(s)) = 0$$

$$f(y)_t = x\left(\frac{1}{2t}\right) z^{10}$$

$$f(y)_s = x\left(\frac{2}{s}\right) z^{10}$$

$$\frac{d}{dt} (\ln(\sqrt{t})) = \frac{1}{2t}$$

$$= 0 + \frac{1}{2t} = \frac{1}{2t}$$

$$\frac{dy}{ds} = \frac{d}{ds} (2 \ln(s)) + \frac{d}{ds} (\ln(\sqrt{t}))$$

$$\frac{d}{ds} (2 \ln(s)) = \frac{2}{s}$$

$$\frac{d}{ds} ((\ln \sqrt{t})) = 0$$

$$= \frac{2}{s} + 0 = \frac{2}{s}$$

$$f(y) \frac{dy}{dt} = t^3 \left(\frac{1}{2t} \right) z^{10}$$

$$= \frac{t e^{10st}}{2}$$

$$f(y) \frac{dy}{ds} = t^3 \left(\frac{2}{s} \right) e^{10st}$$

$$= \frac{2t^3 e^{10st}}{s}$$

$$f(z) = 10xy z^9$$

$$\frac{dz}{dt} = s e^{st}$$

$$\frac{dz}{ds} = t e^{st}$$

$$f(z)_t = 10xy (s e^{st})^9$$

$$f(z)_s = 10xy (t e^{st})^9$$

$$f(z) \frac{dz}{dt} = 10xy (s e^{st})^9$$

$$= 10t^3 \cdot (2\ln(s) + \ln(\sqrt{t})) \cdot (s e^{st})^9$$

$$f(z) \frac{ds}{dt} = 10t^3 (2\ln(s) + \ln(\sqrt{t})) (t e^{st})^9$$

$$\frac{df}{dt} = 3t^2 \cdot (2\ln(s) + \ln(\sqrt{t})) \cdot e^{st} + \frac{t e^{st}}{2} + 10t^3$$

$$(2\ln(s) + \ln(\sqrt{t})) \cdot (s e^{st})^9$$

$$= 3t^2 \ln(s^2 \sqrt{t}) e^{st} + \frac{t e^{st}}{2} + 10t^3 \ln(s^2 \sqrt{t})$$

$$(s e^{st})^9$$

$$\frac{\partial f}{\partial s} = 0 + \frac{2te^{10st}}{s} + 10t^3(2\ln cs) + (\ln(\sqrt{t})) (te^{10st})^9$$

$$= \frac{2te^{10st}}{s} + 10t^3(2\ln cs) + \ln(\sqrt{t})(te^{10st})^9$$

-4

$$b, f = x^{10} + y^{11} + z,$$

$$x = \sqrt{t+s^2}$$

$$y = \frac{t}{s}$$

$$z = s \cdot t$$

$$f(x) = 10x^9 + \frac{d}{dx}(z) \rightarrow 0$$

$$\frac{dx}{dt} = \frac{1}{2\sqrt{t+s^2}} \frac{d}{dt}(t+s^2) \rightarrow 1$$

$$= \frac{1}{2\sqrt{t+s^2}}$$

$$\frac{dx}{ds} = \frac{1}{2\sqrt{t+s^2}} \frac{d}{ds}(t+s^2)$$

$$\frac{d}{ds}(t+s^2) = 2s$$

$$= \frac{s}{\sqrt{t+s^2}}$$

$$\left[\begin{array}{l} f(x)_t = 10 \left(\frac{1}{\sqrt{t+s^2}} \right)^9 \\ f(x)_s = 10 \left(\frac{s}{\sqrt{t+s^2}} \right)^9 \end{array} \right]$$

$$\cancel{f(x)} \frac{d\cancel{x}}{dt}^2$$

$$f(x) \frac{dx}{dt} = 10 \left(\frac{1}{2\sqrt{t+s}} \right)$$

$$= 10 \cdot \frac{1}{2^9 (t+s^2)^{9/2}} = \frac{2 \cdot 50}{2^9 (t+s^2)^{9/2}}$$

$$= \frac{5}{2^8 (t+s^2)^{9/2}}$$

$$= \frac{5}{256 (t+s^2)^{9/2}}$$

$$f(x) \frac{dx}{ds} = 10 \left(\frac{s}{\sqrt{t+s^2}} \right)^9$$

$$= 10 \left(\frac{s}{\sqrt{t+s^2}} \right)^9$$

$$= \frac{10 \cdot s^9}{(s^2+t)^{9/2}} = \frac{s^9 \cdot 10}{(t+s^2)^{9/2}}$$

$$f(y) = 11y^{10} + 0$$

$$\frac{dy}{dt} = \frac{1}{s}$$

$$\frac{dy}{ds} = -\frac{t}{s^2}$$

$$t \frac{d}{ds} (s^{-1})$$

$$= t(-1 \cdot s^{-1-1})$$

$$f(x) \frac{dx}{dt} = 11 \left(\frac{1}{s} \right)^{10}$$

$$f(x) \frac{dx}{ds} = 11 \left(-\frac{t}{s^2} \right)^{10}$$

$$f(z) = 1$$

$$\frac{dz}{dt} = s$$

$$\frac{dz}{ds} = t$$

$$f(z) \frac{dz}{dt} = 1$$

$$f(z) \frac{dz}{ds} = 1$$

$$\frac{\partial f}{\partial t} = \frac{5}{256 (t + s^2)^{9/2}} + 11 \left(\frac{s}{s} \right)^{10} + 1$$

-3

$$\frac{\partial f}{\partial s} = \frac{s^9 \cdot 10}{(t + s^2)^{9/2}} + \frac{11(-t)}{(s^2)^{10}} + 1$$

-3

| | | |
|--|---|--------|
| > restart Q3 | | |
| > w := x • y • z ¹⁰ | $w := x \cdot y \cdot z^{10}$ | (1) |
| > x := t ³ | $x := t^3$ | (2) |
| > y := ln(s ² • sqrt(t)) | $y := \ln(s^2 \cdot \sqrt{t})$ | (3) |
| > z := e ^{t • s} | $z := e^{t \cdot s}$ | (4) |
| > m := diff(w, t) | | |
| | $m := 3 t^2 \cdot \ln(s^2 \cdot \sqrt{t}) \cdot (e^{t \cdot s})^{10} + \frac{t^3 \cdot \left(\frac{s^2 \cdot \frac{1}{\sqrt{t}}}{s^2 \cdot \sqrt{t}} \right) \cdot (e^{t \cdot s})^{10}}{2} + 10 t^3 \cdot \ln(s^2 \cdot \sqrt{t}) \cdot ((e^{t \cdot s})^{10} s)$ | (5) |
| > m := diff(w, s) | $m := 2 t^3 \cdot \left(\frac{s \cdot \sqrt{t}}{s^2 \cdot \sqrt{t}} \right) \cdot (e^{t \cdot s})^{10} + 10 t^3 \cdot \ln(s^2 \cdot \sqrt{t}) \cdot ((e^{t \cdot s})^{10} t)$ | (6) ✓ |
| > restart | | |
| > r := x^10 + y^11 + z | $r := y^{11} + x^{10} + z$ | (7) |
| > x := sqrt(t + s ²) | $x := \sqrt{s^2 + t}$ | (8) |
| > y := $\frac{t}{s}$ | $y := \frac{t}{s}$ | (9) |
| > z := s • t | $z := s \cdot t$ | (10) |
| > diff(r, t) | $\frac{11 t^{10}}{s^{11}} + 5 (s^2 + t)^4 + s$ | (11) |
| > diff(r, s) | $- \frac{11 t^{11}}{s^{12}} + 10 (s^2 + t)^4 s + t$ | (12) ✓ |
| > restart Q5 | | |
| > equation1 := y = x^3 + 2 • x^2 + 7 • x | $\text{equation1} := y = x^3 + 2 \cdot x^2 + 7 \cdot x$ | (13) |

$$\begin{aligned} &> \text{implicitdiff}(\text{equation1}, x, y) \\ & \qquad \qquad \qquad \frac{1}{3 \cdot x^2 + 4 \cdot x + 7}. \end{aligned} \tag{14}$$

$$\begin{aligned} &> \text{equation2} := x^3 \cdot y^{10} - x \cdot y^3 = 10 \cdot x \\ & \qquad \qquad \qquad \text{equation2} := x^3 \cdot y^{10} - x \cdot y^3 = 10 \cdot x \end{aligned} \tag{15}$$

$$\begin{aligned} &> \text{implicitdiff}(\text{equation2}, x, y) \\ & \qquad \qquad \qquad \text{RootOf}(-3 (x^2 _Z) \cdot y^{10} - 10 x^3 \cdot y^9 + _Z \cdot y^3 + 3 x \cdot y^2 + 10 _Z) \end{aligned} \tag{16}$$

>